


15

2006-11-30



2006-11-30



o
?
i
iy
O
S
S
«



5.8.2

H(T) = G(1)-C(1)-Gg(1)
G+()
Gr(1)

C(f)
H(7)
E(f)
H(T) = G(1)-C(1)-Gg(1) -E(7)
E(f) H ()
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Yn

et)=>" Cdo(t-iT)

E(w) = ZN:_N Ce it
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=

X(t)
yt) = x) xet) =x(®)* >\ CSE-iT)=> " Cx(t-iT)
t = KT + t,

VKT +1)=>""  CX{(k—i)T +1t,]

yk Z,Nl *
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X=1/4 X,=1 x,=-1/2,
*)
=2 O
y-z—‘1/16 Y150 Y=5/4 y,=0 y,=-1/4
N
K 0 Y
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=

X o (@) =ZT@X(W+2?MJ =T,

Y, (@) = E(@)X4(@) |o|<=

E(w) = >

E(w) ‘Ct)‘ < 7Z'/T

E(w)
E(w) = Zi Cel'“’

=0 |

C :irﬁ E(w)e" dw
27t/ T J==T
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Ci
1 X(t) > X () > X (@)
2 Xg(@)— E(0)
3 Ew)—>C
C;
ZL'_N ce'’ E(w) = Zz_w cel'’
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C;
1 K 0
2 Y >0, C, - AC = C, Y <0, C, + AC = C,
Y = 0, G
3 Ck yk Kk 0
1
AC

AC
AC
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1a,}

¢=Efy.-afj~

=2 WG,
¢ = {(Z. WG - ak)z}
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oC, 8K} oC 2N +1Zk= v S

i =+142.. +N
N

{Xk} Yi _Zi=‘NC'Xk_' & = Z. _N G X,

E{ex.}=0, > ex.,=0, i=t1%2..xN
AC
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